®
RFLATBAND H

NHfFRD 77 EER

ERSER

HE

0%

ISR ~<— (TPE)

NH- « - Fy PRILE—
AR
90°C

ELZ7Sv hRAVE

EL7SY F@RNVE

MA\WVJ AWJ Co., Ltd.

Rt

ARk

9020

ZyN\vZ)b:1zZs0 Z2YN\vZ)L:SUS 304
Kbk -+vhk:i1zsn0 RIVb-Fwvb:SUS 304 . o
) NV RAHESUS 430 NV RAFEISUS 304 1vF—t #iEwW
AW 51— Hafgitis : TS A h<— (TPE) Hafgistis TS A< — (TPE)
I-so W | Ea | |RE | B | B | (| |17 BB | P
2 = PB | ®& | W | ® |k | BN @ | w) 2 =B
PB10T10-0016 | PB16 | 22 | 25 | 0.6 | W3/8 |M6x25 |27 | 65.3 | 1.2 | 28 [UEN% 200 _ PB10112-0016
PB10110-0020 | PB20 | 27 | 25 | 0.6 | W3/8 |M6x25 |27 | 68.6 | 1.2 | 28 |0Bx% 200 _ PB10112-0020
PB10110-0025 | PB25 | 34 | 25 | 0.6 | W3/8 |M6x25 |27 | 12.0 | 1.5 | 28 [0Bx% 200 _ PB10112-0025
PB10110-0030 | PB30 | 42 | 25 | 0.6 | W3/8 |Mex25 |27 | T6.4 | 1.5 | 28 |1ExI0% 160 _PB10112-0030
PB10110-0040 | PB40 | 48 | 25 | 0.6 | W3/8 |[M6x25 |27 | 79.4 | 1.5 | 28 [WExi0% 140  PB10112-0040
PB10110-0050 | PB50 | 60 | 25 | 0.6 | W3/8 |M6x25 |27 | 85.4 | 1.7 | 28 [UEx(0% 100 _PB10112-0050
e T pB10110-0065 | PB65 | 76 | 25 | 1.0 | W3/8 |M8x25 27 | 95.4 | 2.0 | 28 80 PB10112-0065
(YouTubel (EE¥7>0=F T pp10110-0075 | PBT5 | 89 | 25 | 1.0 | W3/8 |M8x25 |27 |101.8 | 2.0 | 28 60 PB10112-0080
PB10110-0100 | PBI00 | 114 | 25 | 1.0 | W3/8 |M8x25 |27 | 114.4 | 2.0 | 28 40 PB10112-0100
®
FLN'BAJ\D b NHAF R TF &S Wt
NH- « -+ bRLE—
EFXEERE iz} 1B REERE 9021
0% ISZk<— (TPE) 90°C
AW G =2
EL75v kA R ELTS5v FiAv K
b V172 SR ALV N By A | ALk +Fvbh:SUS 304
NV RA&E:SUS 430 NV RAEE:SUS 304
WEEilE: T>AK<Y— (TPE) fEiEEls - TS A N<— (TPE)
I=s0 W | me | e | KB e Tor— | e ZFULR
2 % |pp |®&|W | ®|P| 8N || H © |w | M 8 &
PB10210-0016 | PB16 | 22 | 25 | 0.6 | 20 | M6x20 | 47 | 58.3 | 1.2 | 28 |WEQXE 200 _PB10211-0016
PB10210-0020 | PB20 | 27 | 25 | 0.6 | 20 | M6x20 | 47 | 61.0 | 1.2 | 28 |Ex% 200 PB10211-0020
PB10210-0025 | PB25 | 34 | 25 | 0.6 | 20 | M6x20 | 47 | 64.9 | 1.5 | 28 |WEXE 200 PB10211-0025
PB10210-0030 | PB30 | 42 | 25 | 0.6 | 20 | M6x20 | 47 | 9.1 | 1.5 | 28 |I6ExI0% 160 PB10211-0030
PB10210-0040 | PB40 | 48 | 25 | 0.6 | 20 | M6x20 | 47 | 721 | 1.5 | 28 |Ex(0% 140 PB10211-0040
PB10210-0050 | PB50 | 60 | 25 | 0.6 | 20 | M6x20 | 47 | 78.4 | 1.7 | 28 |0Ex% 100 _PB10211-0050
! PB10210-0065 | PB65 | 76 | 25 | 1.0 | 20 | M6x20 | 47 | 8.7 | 2.0 | 28 60 PB10211-0065
[YouTubel PB10210-0075 | PB75 | 89 | 25 | 1.0 | 20 | M6x20 | 47 | %4.2 | 2.0 | 28 50 PB10211-0080
PB10210-0100 | PB100 | 114 | 25 | 1.0 | 20 | M6x20 | 47 | 106.8 | 2.0 | 28 30 PB10211-0100

®

FLN'LH]I NH {1 KU 77 V&5

{55 PR FE 3

ISR K<— (TPE)

90°C

[YouTube

€D 7> FURIVE

&% 7>y FURILE

URIVhAGE  =fE1 =0

Fv b =E1=s0

MgtEls . TSR <— (TPE)
22T~k ISAM— (TPE)

U R)L 4% 1 SUS304
Fw b 1 SUS304

MgtEls TS A <— (TPE)
ZRZETL—b i ISAI— (TPE)

1=70 AR 75y k URIL K REETL—b A ATFVILR

m & PB D P d H A [ w b C t 2 %
PB10340-0016 | PB16 22 34 |W3/8| 54 | 26 | 25 |59.5| 17 1.5 | @Ex10% 300 PB10342-0016
PB10340-0020 | PB20 | 27 40 [W3/8] 60 | 26 | 25 [66.5] 7 | 1.5 | NE<0E 200 PB10342-0020
PB10340-0025 | PB25 | 34 46 [W3/8] 66 | 26 | 25 |T25[ 7 | 1.5 | DEA0% 200 PB10342-0025
PB10340-0030 | PB30 82 56 |W3/8| 75 25 | 25 83 [ 7.5 | 1.5 | HEX0E 150 PB10342-0030
PB10340-0040 | PR40 | 48 62 [W3/8| 81 | 25 | 25 | 89 | 7.5 | 1.5 | NExI0% 120 PB10342-0040
PB10340-0050 | PB50 60 74 [W3/8] 93 [ 25 [ 25 [ 101 | 7.5 | 1.5 | 9fExi0& 90 PB10342-0050
PB10340-0065 | PB65 76 88 |W3/8| 113 | 30 | 25 | 116 | 7.5 | 1.5 70 PB10342-0065
PB10340-0075 | PBT75 89 101 |W3/8 126 | 30 | 25 | 129 | 8.5 | 1.5 55 PB10342-0080
PB10340-0100 | PB100 | 114 | 126 |W3/8 | 151 | 30 | 25 | 154 | 8.5 | 1.5 40 PB10342-0100

30



